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Question ID: 1569466

Question Type: | MCQ
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Topic: Chemistry-Section A
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Question ID: 1569467
Question Type: | MCQ
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Topic: Chemistry-Section A
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Question ID: 1569468

Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No: 69

Question ID: 1569469

Question Type: | MCQ

Question: N d Ao EAD 224
A Be>=Mg=Ca=>Sr

B sr=Ca>Mg=>Be

C: Sr>Be>Mg > Ca

D Be=5r>Mg=Ca

Topic: Chemistry-Section A

Item No: 70

Question ID: 1569470

Question Type: | MCQ
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Question: NO, N,0, B,03. N,0s, CO, SO;. P,0;,
A: 3
B: 4
C: 5
D: 0

Topic: Chemistry-Section A
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Question ID: 1569471
Question Type: | MCQ
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Question: :
A: [Ni(en);]*", B : [Ni(NH;)6]*". C : [Ni(H,0)g]*
A: C=<B<A
B: B<C<A
C: C<A<B
D: A<C=B
Topic: Chemistry-Section A
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Question Type: | MCQ
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Topic: Chemistry-Section A
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A: A>=B>=C>D
B: B=A>C>D
C: D>C>A>B
D: D>C>=B=A
Topic: Chemistry-Section A
Item No: 76
Question ID: 1569476
Question Type: | MCQ
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Question: Ether HClI
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A: CH3—CH2—CH2—CH3
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C: |

CH3z —CHp — CH - CH;j
D: CH3 —CHp —CH =CH,
Topic: Chemistry-Section A
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Question Type: | MCQ
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Question Type: | MCQ
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Topic: Chemistry-Section B
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Question ID: 1569481

Question Type:
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Topic: Chemistry-Section B
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Question ID: 1569482
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Chemistry-Section B

Item No: 84
Question ID: 1569484
Question Type: | Numeric Answer
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HCl + NaOH — NaCl + H,0 AH = —57.3 kJ mol™!

Question:
CH;COOH + NaOH — CH3;COONa + H,O0 AH=-553 kJ mol!
RILAF R0 FAT CH;COOH-AF AT O (JFTAY) kJ
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Topic: Chemistry-Section B
Item No: 85
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Question Type: | Numeric Answer
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Question Type:
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Question ID: 1569488

Question Type:
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